
(x2)

(x6)
(x4)

(x1)

(x1) (x1)

M10x55 (x 4)

M10x60 (x 4)M6x10 (x 4)

(x1)

(x2)

(x2)

Ø8 

B

(x1)

ST4.2x35 (x 2)

 (x 2)

A

(x1)

ST4.2x35 (x 4)

Ø8  (x 4)

M8x90 (x6)

(x6)

Installation Instructions

THE FINISHED 
DOOR SHOULD BE 
2” TALLER AND 3” 
WIDER THAN THE 
FINISHED 
OPENING. 

ANY TRIM AROUND 
THE FINISHED 
OPENING ON THE 
DOOR SIDE MUST 
BE THINNER THAN 
THE HEADER 
BOARD.

78-¾”

for 1-3⁄8” door 

for 1-¾” door 5/16”

1/4”

3/8”

H
 +

 1
-11

⁄16
”

3-11⁄16”

3”

3⁄8”

5-7⁄8”

16”
16” 16”

16” 3-11⁄16”3-11⁄16” 3-11⁄16” 3-11⁄16”



(X2)

1
(x6)

2
(x6)

 

1/4”

3 4
1

2

(x6)

drill out

5 6
1

2

MEASURE THE WALL 
AND MARK THE HOLES 
FOR THE MOUNTING 
HARDWARE. 

DO NOT INSTALL TRACK 
DIRECTLY ONTO THE 
DRYWALL. 
A HEADER BOARD ABOVE 
THE DOOR OPENING IS 
REQUIRED.

MOUNT THE HEADER BOARD TO WALL STUDS 
WITH SUITABLE FASTENERS (NOT INCLUDED). 

CENTER THE 
ANTI-JUMP DISCS 
ON THE TOP EDGE
OF THE DOOR. MAKE 
SURE THE SCREWS ARE 
ON THE FORWARD EDGE 
OF THE DOOR. DISCS CAN 
BE ROTATED OUT OF THE 
WAY TO INSTALL THE 
DOOR ON THE TRACK. 

HANG THE DOOR 
ON THE TRACK. 
ROTATE THE 
ANTI-JUMP DISCS 
BACK SO THEY 
ARE CENTERED 
ON THE TOP OF 
THE DOOR. 

USE THE INCLUDED 
CONNECTOR PLATE TO 
CONNECT THE  TWO 
TRACK PIECES. 
HANG THE TRACK ON 
THE HEADER BOARD. 

With proper installation, the maximum recommended weight for doors is 200 pounds. 
www.stoneharborhardware.com

FOR A 1-3/8” THICK 
DOOR, USE THE 
SHORTER SET OF 
INCLUDED BOLTS. 

FOR A 1-3/4” THICK 
DOOR, USE THE 
LONGER SET OF 
BOLTS. 

INSTALL THE STRAPS ON THE DOOR.

3”

5-7⁄8”

3/8”

2”

1-9⁄16”

3-9⁄16”

DOOR 
CENTER LINE



(X4)

7

BA

L

L+2mm

5/16"
5/16"

8

(X2)

9

With proper installation, the maximum recommended weight for doors is 200 pounds. 
www.stoneharborhardware.com

TO USE THE HIDDEN 
FLOOR GUIDE, USE 
A ROUTER TO CUT 
THE OPENING IN 
THE BOTTOM OF 
THE DOOR.  

CHOOSE WHICH FLOOR GUIDE SET YOU WANT TO INSTALL. 

INSTALL 
AND 
ADJUST 
THE TRACK 
END STOPS. INSERT THE  PROVIDED PLUGS INTO THE 

HOLES AT THE END OF THE TRACK. 

1”

1-9⁄16”

¼”

¾
”

1-9⁄16”


